8 7 6 S 4 3 2 | 1
REVISIONS
[> NOTES ® [ DATE APPROVAL |
1. STANDARD GLAZING OPTION — .125° V005 | V] 713720 [ Tic
MINIMUM DSB GLAZING MEETS UNIFORM STATIC v [as27/21 ] TLC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70° AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR 13 GA HORIZ ANGLE
WND—BORNE DEBRIS REGIONS. AN
2. ALUMINUM FULL VIEW OPTION — ALUMINUM
FULL VIEW SECTION MAY REPLACE ANY
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE 15 GA MIN HORIZ § DOOR |
RAILS AND STILES OF EXTRUDED ALUMINUM TRACK 4] i
ALLOY 80B3—T68 WITH A 2—1/4" INTRAGRAL
FIN AND .125" MINIMUM DSB GLAZING 13 GA CONTINUOUS ﬂ
INSTALLED WITH ALUMINUM RETAINERS IN WALL ANGLE |
ORDER TO MEET UNIFORM STATIC DESIGN W .
PRESSURES SHOWN ON THIS DRAWING. AFV = » |
PANEL SIZE IS 45.5°x21.9" (MAX). GLAZING IS ) ;
NOT IMPACT RESISTANT AND DOES NOT MEET 15 GA MIN VERT ~ i !
THE REQUIREMENTS FOR WND-BORNE DEBRIS J:| 7 0] L
3 H P = <
5/16"x1-5/8" — H 1
3. MINIMUM OF 1” OVERLAP ON BOTH JAMBS LAG SCREW AT EACH N : 20 GA CENTER STLE— |,
REQUIRED TO MEET NEGATIVE DESIGN HOLE LOCATION FOR . o
PRESSURES. WOOD SUBSTRATE. SEE a H
SHEET 3 FOR MOUNTING i
4. SUIDE LOCK OR OPERATOR REQUIRED. TO OTHER SUBSTRATES. W N o
5. SECTION STEEL TO HAVE THE FOLLOWING 7 [kl —
MINIMUM_THICKNESS: i ; M
421, 423 — 20 GA ! /
427, 429 — 24 GA 1/4-20x9/168" TRACK—_| ) INd P
434, 436 — 25 GA BOLT AND 17420 HEX N 3 o
NUT AT EACH TRACK i M
S oL TE S R | (o
M Al SEE DETAIL A SHEET 3, H
RESPONSIBILITY OF THE PROFESSIONAL OF ( ) 20 GA END STILE—] @zzr y
RECORD FOR THE BUILDING OR STRUCTURE /] : P
AND IN ACCORDANCE WITH CURRENT BUILDING 11 GA TRACK CLIPS o §
CODES FOR THE LOADS LISTED ON THIS (WELDED, BOLTED, OR
DRAWING. RIVETED TO WALL )
ANGLE) SEE NOTE 7 AND "
7. TRACK CLIPS SHALL BE LOCATED WITH DETAIL F SHEET 3
CENTERLINE OF BOTTOM CLIP SPACED 10°
MAX FROM BOTTOM OF TRACK AND REMAINING 5(';"3‘.? R G
TRACK CLIPS SPACED AT 24° 0.C. MAX.
SPACING BETWEEN TOP TRACK CLIP AND OPERATOR — SEE NOTE 4) M 4 0
SPLICE PLATE SHALL BE 30° O.C. MAX. H X
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO °
BE MINIMUM 2x8 STRUCTURAL GRADE LUMBER. 73
REFER TO JAMB CONNECTION SUPPLEMENT H
FOR ATTACHMENT TO SUPPORTING H
STRUCTURE. i 11
3
»
NOTE:  (4) SECTION SOLID DOOR B -
SHOWN. SEE SHEET 2 FOR U—BAR i @]
LOCATIONS ON DOORS WITH OTHER H
SUPERIMPOSED DESIGN PRESSURE SECTION QUANTITIES AND SEE NOTES 1 Y\ ! .
LOADS ON SUPPORTING STRUCTURE OPTIONS. : °
oheX, | DoOR | MAX UNIFORM LOAD EACH JaMB - W N .
DOOR | HEIGHT (PLF) 1 I
10°—4"| ALL +107.6/-121.5 '-\ -
QQ\\\\\\ =
- \
‘«P‘.'.--"""- o 4@ Digitally signed
9 o ‘e, ') . by John Christian
Cheigian Voelkel
. .
Vootkél Date: 2021.0503  14g pooRS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.
R A W £ |+ 10:08:04 -05'00
, OTHER INFORMATION PROPRIETARY PROPERTY OF DVERHEAD DODR CORPORATION AND ITS AFFILIATED COMPANIES.
"J.C. VOELKEL 4 b B A M%%s" M e R L R A
STATIC PRESSURE RATINGS APPROVED SIZES Y s e e £
DESIGN PRESSURE(PSF): +20.9/~23.6 [MAX WIDTH: 10"-4" S o NORBERS: T CLaRe | 114721 e i i e essoss e,
: .9 /=23, D) ERS 9/-23.6 PSF, 10°-4* MAX
MAX_HEIGHT. 24'—1 133174 ,-'5 g ey [ LT OB il KT W I wmm e | vesa
IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 241 ( Q& B Xx o |EASKE v o B D-411786
. CENS& -'\e: REF_DVG USED OV MGLES 5 | EA T CLARK | 428721 [o—7a  [serio 3
) 7 | XIS “O = | 4 3 2 | 1
S e -

/
WONAL


chris
Texas


6 S 4 3 e 1
(12) SECTION DOORS WITH
(8) 3° 20 GA 80 KSI U-BARS
1/4-20x8/16" TRACK BOLT LOCATED AS SHOWN
AND 1/4—20 HEX NUT ’
THROUGH THE SLOT IN THE /
TRACK AND TRACK CLI i i (11) SECTION DOORS WITH
: (8) 3" 20 GA 80 KSI U-BARS
/ LOCATED AS SHOWN
DETAL A (10) SECTION DOORS WITH
(7) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN
./. 0
12 GA COMMERCIAL TOP FRAME  / \ (9) SECTION DOORS WITH
BRACKET WITH 13 GA ROLLER Y (6) 3° 20 GA 80 KSI U-BARS
CARRIER ATTACHED WTH (4) | LOCATED AS SHOWN
1/4—14x7/8" SELF DRILLING j
CRIMPTITE SCREWS '\ ¥i
" o (8) SECTION DOORS WITH
el (6) 3" 20 GA 80 KSI U-BARS
DETAIL B LOCATED AS SHOWN
2" STEEL ROLLER WTH /1 (7) SECTION DOORS WITH
5-1/8" STEM AND 7/16' <P (5) 3° 20 GA 80 KSI U-BARS
PUSHNUT AT EACH ROLLER / LOCATED AS SHOWN
LOCATION.  1/4”" MAX i
BETWEEN PUSHNUT AND ]
BRACKET OR HINGE }
13 GA WDE BODY END ! (6) SECTION DOORS WITH
/ (4) 3° 20 GA 80 KSI U-BARS
HINGES EACH A'ITACHED [ v LOCATED AS SHOWN
DRLLNG Sk e Sorewe. el
M CR
DETAL C
(5) SECTION DOORS WITH
P —— (4) 3° 20 GA 80 KSI U-BARS

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7/8" SELF
DRILLING CRIMPTITE
SCREWS:

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

STATIC PRESSURE RATINGS APPROVED SIZES

MAX WIDTH: 10'-4"
MAX HEIGHT: 24'—1"

DESIGN PRESSURE(PSF): +20.9/-23.6

IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 24

8 7 |

/\/_(2) 1/4—14x7 /8" SELF DRILLING
CRIMPTITE SCREWS

HALF HINGE
(2) 1/4 x 1/2°

CARRIAGE BOLTS AND
1/4" FLANGE NUTS

4
J.C. VOELKEL ¢

ATTACH U-BARS WITH
(2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS

AT ALL STILE LOCATIONS, TYP.

TPEMVWMBALLDTIERM

AND INFDRMATIDI
ANY DF THIS DRAVING DR

\TIDN CONT/
N,me.E[RmPART,HAYNDTEcﬂPIEIIINMNWIER[R
INFORMATION IS INTENDED TO

LOCATED AS SHOWN

(4) SECTION DOORS WTH
(3) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

AND PROPRIETARY Wnrwmmmunmmumrrsm
TO ANYONE WITHOUT THE PRIOR VRITTEN CONSENT OF OVERHEAD DODR
DPERATE AS A LICENSE DR AUTHORIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECIFIC WRITTEN

\TED COMPANIES.
MAT.IDN. NO nm.usun: OF
CONSENT OF OVERHEAD DODR

CCORPORATIDN.
ssmpeeesscessensssassnsessane :*,:,a;"":“‘:;‘;wum 1/14"/“;1 T%;:?;:g}ﬁﬁwﬂvm
,’?9 13317 % ] e E%F:"%';K “A% _|E% D 411786

"‘O“..'-(.{Q.E .s'%..i;\& 5 | = N/Al [s=cws
WCSIONAL BN



chris
Texas


MIN 3/16" THICK
STEEL FOR MOUNTING

MOUNTING WALL ANGLE:

RUBBER GASKET
1/8" ANNEALED DSB GLASS (MIN)

EBOXX MIN. DLO= 5"X20

TRACK CLIP

1/4—20x9 /16"
TRACK BOLT AND
1/4-20 HEX NUT-

TRACK

; WALL ANGLE MAY BE ATTACHED TO
SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
SELF DRILLING SCREW WITH 1" 0.D. WASHER AT
EACH HOLE OR PAIR OF HOLE LOCATIONS IN
UEU OF WELDING

MOUNTING TO STEEL DETAIL

PLASTIC FRAME

1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4°X22 7/8" -
(10) #8X2" SHEETMETAL SCREW

(1) PER VERTICAL FRAME LEG

(1) PER HORIZONTAL FRAME LEG

12GA SCAB BRACKETS (OPTIONAL)
© 12" SPACING SEGURED TO WALL
ANGLE WITH 1/4-20 TRACK BOLT
AND 1/4-20 FLANGE NUT

FOAM TAPE 3/8° SIMPSON TITEN HD, 3/8° SIMPSON TITEN HD,
2-3/4° MN_EMBED INTO 2-3/4" NIN_EMBED INTO
ALUMINUM FULL VIEV FRAME A R O E onCheTE NN 2000 e WALL ANGLE FACING
OF HOLE LOCATION OF HOLE LOGAT! INWARD
VIEW NOUNTING WALL ANG
TRACK CLP TRACK CUP
(@ 1r-mape (2) 1/4-20x8/16°
BOLT AND TRACK BOLT AND
1/4-20 HEX NUT- 1/4-20 HEX NUT-
TRACK TRACK
CONCRETE MOUNTING DETAL — ANGLE OUT 'CONCRETE MOUNTING DETAIL — ANGLE IN
CONTINUOUS
WALL ANGLE:

b TRACK
\ N 3/19' THICK

FOR MOUNTING
(2) 1/4” X 7/16, \ uouum«: WALL ANGLE 22t (eq0xx MiN.
SEMI TUBULAR H —
| TRACK CUP
Ruts R () | / i BRLL T
BOLTS WMITH NUTS™, i 1/4-20 HEX NU EAGH HOLE OR FAR OF HII:E CocaTons
OR (2) .28" DIA TRACK A 1m.|n:nnﬂ_m..iliil._n:m.LEu o e
RESISTANCE SPOT CUP
WELDS
DETAIL F
4 . ) TG A PRI TRre T TVEE| YIS
2 R At e Y A DTN o L i B BART b T ) COPED I YA O TS0 YE A UITHT T PRI RTIEN GO (5 IVEREAD (0 CRPATION 6 DSOS
STATIC PRESSURE RATINGS APPROVED SIZES , J . C VOELKEL é ANY (F THIS IRHVING (R IETRMTION 1§ INTENDED TO DPERATE AS 4 LICENSE (R AUTHIRIZATION 0 USE IT FIR ANY PURPOSE VITHINT THE SPECIFIC VRITTEN CINSENT [F (VERHEAD DOLK CORPIRATION
MAX WIDTH: 10—4" '....'--...-............-....... —1/14/21 "‘”‘.‘a“@'&?}‘éﬁ‘l@s«m
DESIGN PRESSURE(PSF): +20.9/-23.6 (-0~ 0~ == l' ot 133174 Q' T CLark RIS 481/423/427/483/ 2
. [ J QIAN 1/8/21
IMPACT/CYCLIC RATED: NO MAX SECTION HEIGHT: 247 | °§ D % Ky Q/ I wFraoveD oY B D- 411786
W O /CENS?’O e“/ ] Teia | 208 ey e S
5 N B ¥ S e 1
-
\\ /IONAL B &

N


chris
Texas


		2021-05-03T10:08:04-0500
	John Christian Voelkel




